ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



10 9 8 7 6 5 4 3 2 \ 38210

"
o 516
‘ 203
5
12.70 _
REF. -50 QPT. SCREW 500 4
(WHERE APPLICABLE) O $ ¥ I 'O 6.8
O Q| '
14.29 ] -
563 . L 1429 $5.44 5 CIRCUIT SHOWN
563 214

REF. -56 OPT. SCREW

(WHERE APPLICABLE)
IMPRINTING FOR
OPTION -10A ONLY:
(SEE NOTE 4) 2344

~.923

159
[ \ 63
NOTES:

_ 102 37 | @—l
. MATERIAL: SEE TABLE 1.31

1
2. FINISHES: SEE TABLE 40 38
3. PRODUCT SPECIFICATION: NOT REQUIRED
4. IMPRNTING STYLE -10A (ONE SIDE)

MPRINT TEXT TO BE 135" HEIGHT.
5. *XX' REFERS TO THE QUANTITY OF CIRCUITS.
6. ROHS COMPLIANT.

7 |XXx2 |SCREW #8-32X312 PHLP STAINLESS (OPT-53-56) |STEEL  |PASSIVATE S=S| |QUALITY| GENERAL TOLERANCES DMENSION STYLE SCALE | DESIGN UNTS © ] LHIRD. ANGLE
p " W 2= IsymgoLs| (UNLESS SPECIFIED) MM/IN 11 INCH PROJECTION
%2 | SCREW #8-32X.312 SLOT STAINLESS (OPT -5¢) |STEEL  |PASSIVATE deszg P T NCH [ ORAWN B BATE —[TITLE
< SES _
5 |XX#2 |SCREW #8-32X312 PAN PHSLZN/BR/STEEL -S0|STEEL  |ZN, CLEAR CHROMATE [+ & 5| W=0 [fPLACESE—- [+— [ YORK 2004/11/22 14.29MM [563]
~N Q\ »i 3 PLACES [+ ——- + 005 CHECKED BY DATE DOUBLE ROW
4 |XX#2 |SCREW #8-32X312 BHD PHSLNI/BRASS -49  [BRASS  [NICKEL PLATE B¢ =|3/-0 [ZPraAces|s013 [+01 5. ROBERTSON 2004/12/01 PHENOLIC BTS ASSEMBLY
3 |XX«2 |SCREW, #8-32 X 312, BHD, PHLL-SLOT STEEL  |ZN. CLEAR CHROMATE |& = Sx 2|4 TPLACE [£03 [f--—-  |[APPROVEDBY  DATE
nZ=2EZ° ANGULAR T 2= [6. ROBERTSON 2004/12/01 @ MOLEX INCORPORATED
2 XX |TERMNAL. EYELET, TWN BRASS  |NICKEL PLATE MsS2S MATERIAL NO. DOCTVENT O SFEET O,
< [asq
1 |1 [INSULATOR, AS CUT PHENOLIC |BLACK S5=2a DRAFT WHERE APPLICABLE| SEE SHEET 2 |SD-38210-001 10F 2
Swoo=l W ThiRe B R0 s SZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
MEM |aTY. | DESCRIPTION MATERAL  |FINISH ) g 5 |INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. © 3004/04/02 9 8 7 | 6 5 4 | 3 | 2 1




10 9 8 7 6 5 4 3 2 \ 38210

a7y OF DIV, ING) DI, MATERIAL NO.| MATERIAL NO.| MATERIAL NO.| MATERIAL NO.] FATERIAL NO.| MATERIAL NOJ MATERIAL NO.| MATERIAL NO.| NATERIAL NO.] MATERIAL NO.
CRC, "X N B ' (STANDARDI | (-49 OPTION)| (-50_OPTION)| (-59 OPTION)|(-43-59 OPTION) |(-56 OPTIOND |i-53-56 OPTION) | (104 OPTION)_-10A-49 OPTIONI-10A-50 OPTION)
02 [532 (209 |3 [56]  [e28  [169]  [382100107 |367100707 | 382100307 | 362190067 | 382190747 | 382190191 | 382190063 | 382100502 | - - - -
03 675 [2.66] 1286  [1.13] 57.1 [2.25] 382100103 | 382100203 ] 382100303 | 382190069 | 382190248 | 382190057 | 382190195 | 382100503 - - - - - -
00 [817 (322 |428 (1691 714 (281  |382100104 | 382100204 | 382100304 | 382190080 | 382190083 | 382190081 | - - - | 382100504 | - - - -
05 960 [378] 571 [2.25] 857  [338] 382100105 | 382100205 ] 382100305 | 382190090 | 362190092 | 382190137 - - - 382100505 - - - - - -
06 [103 (434 [714 (281 1000 (394] 382100106 |362100206 | 382100306 |382190109 | 382190110 | 362190221 | - - -  |382100506 | 382190755 | 382190156
07 [1046 (491 857 [338] M43 [450] 382100107 | 382100207 | 382100307 | 382190200 | 382190130 | 382190203 | 38219019 | 382100507 | - - - -
08 1389 [547] 11000  [394] 1285  [506] 382100108 | 362100208 | 382100308 | 382190011 - - - 382190010 - - - 3682100508 - - - - - -
09 [t532 [603] [m43 [450] 128 [563] |382100109 |362100209 |382100309 | - - - — 3290192 | - - - [382100509 | - - - -
0 [1675 [659] [1285 [506] B4 [619]  [382100710 | 382100210 | 382100310 362190202 | 382190020 | 382190022 | - - - [382100510 | — - - -
1 1818 [716] 11428  [563] 714 [679] 382100111 362100211 | 382100311 | 382190047 - - - 3821907255 - - - 38210051 - - - - - -
0 [1960 (7721 |574 le/9] 857 (731 [382100112 | 382100217 |382100312 382190030 | - - - [38219005% | - - -  |38100517 | - - - -
5 [2103 (828 [1714 (6751 2000 (788] 38210013 |382100213 | 3820033 | - - - - - —— - [982M005B | --- -
U |2246 [884] 1857 (731 2143 [44] 362100114 | 362100214 |382100314 | - - - - — - [382190032 38200514 | - - -
5 (2389 (041 (2000 [788] [2286 [900] [38210075 |382100265 | 382100365 | — - - - - — - [3B20056 | --- -
16 2532 [997] 2143 [844] 2428 [956] 382100116 | 382100216 | 382100316 - - - - - - 382190254 - - - 382100516 - - - - - -
7 [2675 [1053] [2286 [900] 7574 (03] |38210017 | 382100217 | 382100317 | — - - - - —— [oea0057 | - - -
8 [2618 [109] [2428 [956] 2714 [1069] |382100118 | 362100218 | 382100318 | - - - — - [382190196 | - - - [38010058 | --- -
19 [2964 [1166] [2571 [03] 2857 (M25] [38210019 |382100219 | 382100319 | — - - - - —— - [Eeam00519 | - - -
20 3103 [1222] [2714 [1069] [3000 (181 382100120 | 382100220 | 382100320 | - - - - - — - [98200520 | - - -
2 [3o46 [1278) 2857 [125] 3143 [1238] 382100121 | 382100221 | 382100321 | - - - - - —— - [982M00521 | --- -
20 [3389 (1334 [3000 (181 [3286 [1294] 382100122 | 382100222 | 382100322 | — - - - - — - [Eeat005 | --- -
23 3532 (391 [3w3  [1238] [3429 [1350] |382100123 |382100223 |382100323 | - - - - - — - [38200503 | - - -
24 [3675 [1447] 3086 [1294] 3574 [1406] 382100124 | 382100224 | 382100324 | — - - - - — - [382M00504 | - -- -
25 3818 [1503] 3429 [1350] 3714 [1463] 382100125 | 382100225 | 382100375 - - - - - - - - - - - - 382100525 - - - - - -
26 [3964 [1559) [3571 [1406] 3857 [1519] 382100126 | 382100226 | 382100326 | - - - - - — - [382M00506 | - - -
27 |4104 [1646] 3714 [1463] [4000 [1575] 382100127 | 382100227 | 382100327 | - - - - - —— - [oeam00507 | --- -
28 4247 116721 136857 [1519] 43 (1631 382100128 | 362100228 | 382100378 - - - - - - - - - - - - 362100528 - - - - - -
29 [6390 [1728] [4000 [1575] [4286 [1687] 382100129 | 382100229 | 382100329 | - - - - - — 38200509 | - - -
30 [4533 (1785 |43 (1631 4429 [17.44] 382100130 | 382100230 | 382100330 | - - - - - — - [382100530 | --- -
=2 g g GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS
sog¢ SYU@BL&YS (UNLESS SPECIFIED) MM/IN 11 ‘ INCH ©d gg\g%JDECATN‘OGNLE
RS2g |—— T INCH | DRAWN BY DATE TITLE
wSSS W0 TrAcsE— [T L. YRK 20041122 14,29MM [.563]
Do & 3 PLACES|t——~ [+.005 |ceckeD 8y DATE DOUBLE ROW
,<_f§ 2 =[8|\/=0 [2PLACES|+0.13_[+.01 _ [o. ROBERTSON 2004/12/01 PHENOLIC BTS ASSEMBLY
= é 5 % 1 PLACE + 03 +-— APPROVED BY DATE
W= =222 02— RosrrTson 200 12/ 018 MOLEX INCORPORATED
<<S ; 5 ; MATERIAL NO. DOCUMENT NO. SHEET NO.
EoZ<a DRAFT WHERE APPLICABLE| SEE CHART | SD-38210-001 2 OF 2
Swoo<] W ThiRe B R0 s SIZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
D & 3 INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Tb_frame_B_P_ME_T 9 8 7 ‘ 6 5 4 ‘ 3 ‘ 2 1

Rev. D 2004/04/02




	Contact us

